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PART -1: GENERAL ENGLISH
Can we go this way to reach the Post Office? -

(1) seeking information (2) making arequest
(3) seeking permission (4) making a suggestion
2.  What made Maya Bazaar a land mark movie?
(1) Direction of K.V. Reddy (2) Dialogues of Pingali Nagendra
(3) Sterling performances of stars (4) Allthe above
3. Combine the following sentences using ‘neither-nor’.
Mr. Rao is not attending the meeting. Mr. Prabhu is not attending either.
(1) Neither Mr. Rao is attending the meeting nor Mr. Prabhu is attending the meeting.
(2) Neither Mr. Rao nor Mr. Prabhu is attending the meeting.
(3) Neither is Mr. Rao nor is Mr. Prabhu attending the meeting.
(4) Mr. Rao is neither attending the meeting nor Mr. Prabhu is attending the meeting.
4.  What is the theme behind the lesson “I will Do It”?
(1) Narayana Murthy’s achievement of 117 seat.
(2) = A person needs support from the family to achieve something in life.
(3) Every person has success and failure in life.
(4) One who is intellectually and ethically strong can become an icon of success, even
though from an ordinary family.
5. “My laugh in the mirror shows only my teeth like a snake’s bare fangs!”.
- What is the figure of speech in the above lines?
(1) Metaphor (2)  Simile (3) Alliteration (4) Personification
6. Hewas in reality a very simple and unassuming man with a subtle sense of humour. What is
the synonym of the underlined word?
(1) smooth (2) unnecessary  (3) unnoticeable (4) intolerable
7. ‘Bye! see youagain’ ..... This expression fits well fora
(1) Diary entry (2) Conversation = (3) Articlewriting (4) Advertisement
8.  Find out the wrongly spelt word.
(1) elegance (2) speculation (3) governance (4) occasion
9.  ‘IfI were you, [ would donate half of my money to the poor’. This is the best example for
(1) complementing (2) suggesting (3) accusing (4) thanking
10. What do we call ‘a person who is responsible for a problem or a crime’?
(1) Publisher (2) Massive (3) Culprit (4) Cardiologist
11. Heis about technology.
Fill the above blank with suitable options given below.
(1) 1gnorant (2) innocent (3) indecent (4) inefficient
12. List out the positive qualities from the following.
a) self centred b) imaginative c) affable d) reliable
(1) (a)and(d) (2) (b),(c)and(d) (3) (b)only (4) (c)and(d)

V-General English 3-A



Question Paper

Booklet Code |

13.  Whatkind of a person was Elizabeth Jordan?
(1) witty (2) complacent (3) generous (4) humorous

14.  Whatis well explained through ‘A tale of three villages’?
(1) how to overcome pollution
(2) what are the precautions to be taken to stop pollution
(3) how ‘Pollution’ could affect the environment and mankind
(4) the flourishing of factories in villages

15. Identify the quantifier that best fits in the blank given below.

Pollution is such a grave problem that person has to think about it.
(D) all (2) any (3) no (4) every
16. Which of the following are alliteratives?
a) hodge-podge b) tip-top c) itsy-bitsy d) tick-tock

€) see-saw

(1) (a)and(b) (2) (a)and(c) (3) (b),(d)and(e) (4) (a)and(e)

17.  What was the writer’s intention in portraying the story ‘What is My Name’?
(1) the basic identity of women at home and in the society.
(2) how to overcome the problem of men domination.
(3) how to keep the house clean and design muggulu.
(4) how to bring up children efficiently.

18. - ‘Please take your seat!” This expression means —
(1) giving permission (2) requesting permission
(3) making an offer (4) seeking permission

19.  Which of the following words comes first in dictionary?
(1) Fierce (2) Freak (3) Fuel (4) Fossil

20. Change the voice
Father has answered my phone call.
(1) My phone call has been answered by father.
(2) My phone call has answered by father.

(3) My phone call was answered by father.
(4) My father has been answered by my phone call.

21. Itrained heavily. But we didn’t postpone the shooting.

(Combine the sentences using ‘In spite of”)

(1) Inspite ofitrained heavily, we didn’t postpone the shooting.
(2) Inspite of heavy rain, but we didn’t postpone the shooting.
(3) Inspite of its rain, we didn’t postpone the shooting.

(4) Inspite of heavy rains, we didn’t postpone the shooting.

22. Choose the right prepositional phrase for the sentence given below.
Giri went to the station his father.
(1) inplace of (2) bymeansof (3) inadditionto (4) alongwith
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23,

Gowtham, who went abroad last year, came back to his motherland.

(Identify the type of clause in the sentence)
(1) Defining Relative Clause (2) Non-defining relative clause
(3) Ifclause (4) Independent clause

24,

What is/are the important elements in Biographical sketch?

(1) Personal information (2) Career
(3) (1)and(2) (4) asignature

25

The minimum characters necessary for a conversation are 3
(1) 1only (2): 2 (3) morethantwo (4) alltheabove

26.

Which are the elements included in a letter writing?

(1) Date and address (2) Salutation and subscription
(3) Body of the letter (4) ° All the above

The meeting is postponed. So we resumed our usual work.

(Combine the sentences using ‘since’)

(1) Since we resumed our usual work, the meeting is postponed.
(2) Since the meeting is postponed, we resumed our usual work.
(3) Since the meeting is postponed, so we resumed our usual work.
(4) The meeting is postponed since we resumed our usual work.

28.

Which among the following is NOT a feature of a one act play?
(1) One setting (2) Minimal characters
(3) asubject/theme (4) Fantasy

29.

It was a/an situation that left a lasting impression on the teacher.
(1) unforgettable (2) occasional (3) recalling (4) uncontrollable

30.

“We don’t have enough basic needs like food, water and energy”. This statement shows —
(1) gratitude (2) adequacy (3) inadequacy (4) prediction

2.5

My little sister is fond fairy tales.
(Choose the right preposition)
(1) at (2) of (3) to (4) by

X

Combine the sentences using a relative clause.

The king presented his daughter a bird. It sang sweetly all day.

(1) The king presented his daughter a bird who can sing sweetly all day.
(2) Theking who presented his daughter a bird sang sweetly all day.

(3) The king presented his daughter a bird which sang sweetly all day.
(4) TheKing’s daughter sang sweetly with the bird all day.

35

The challenges in our lives are there to strengthen our convictions.

(Find the synonym of the underlined).
(1) contentment (2) fears (3) beliefs (4) desires
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34. What does the narrative of colonel Sanders prove?
(1) One can’t earn more than 100 $ at the age of 65.
(2) One who doesn’t give up can achieve success even at 65.
(3) One can try mother’s recipe at the age of 65.
(4) One can knock atleast 10 doors only to receive an order for his recipe.

35. What was the philosophy behind the poem ‘Or will the Dreamer Wake’?
(1) The need for protection of Wild life.
(2) The need to incite the human being towards rehabilitation of animal world.

(3) The fear of extinction of animals.
(4) Alltheabove.

36. My austere father used to avoid all in essential comforts and luxuries.
(Find the antonym of underlined word)

(1) deny (2) expect (3) accept (4) quit
37. What does the binomial “odds and ends” mean?

(1) difficulties (2) abigchoice

(3) unimportant things (4) anintegral part

38. What was Walt Disney’s invention?
(1) Mickey Mouse (2) Triode tube (3) Electricbulb (4) Kentuckychicken

39. Ifyouinvited me, I attend the ceremony.
(1) had - (2) would (3) will (4) wouldhave

40. They may not approve my request.
(Change into passive voice)
(1) My request may not approve them. (2) My request may not be approved.
(3) My request may approve them. (4) My requestis not approved by them.

Question No. 41 to 45 : Read the following passage.
: A teenage boy from a village moved to the city for a job to support his family. He applied
for a job in a big firm.

After some days, he went to attend the interview. He successfully cleared all the tests. The
hiring manager, “You are hired, give me your details for further processing. Also make sure that
your bike is in good condition, as you have to do a lot of travelling to meet the customers”.

The boy replied, “Sir, but I don’t have a bike with me”. Hiring Manager, “Without a bike,
you will not get this job, you can leave”.

The boy left the place thinking about what to do next. He had little money with him. But he
does not want to return to his village without a job. He came across a big vegetable market. He
sparked with an idea. He decided to buy vegetables and sell from door to door. This went well with
good profits, so he continued his hardwork and developed his business as a food chain retailer.

After a few years, his friend visited his home and found many cars in the garage of his big house.
The business man’s friend asked, “‘You have a good collection of cars, do you have any bikes?” The
man smiled and replied, “If [ had a bike, | wouldn’t have had these many cars. This is my destiny”.

Answer the following questions :

41. Why did the boy move from village to city?
(1) togetmarried (2) toenjoylife (3) tofinda job (4) to find friends
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- 47.

42. Whatkind of job did+the boy get?
(1) ajob to meet customers (2) ajob tolook after the company
(3) ajobofhiring manager (4) hedidn’tpass the interview
43. What was the reason he was not hired for the job?
(1) He didn’t clear all the tests (2) Hedidn’t satisfy the hiring manager
(3) Hedidn’tlike travelling (4) Hedidn’thaveabike
44, Whatdid the boy decide when the hiring manager refused to give him a job?
(1) The boy decided to leave the city
(2) Theboy decided to buy a bike
(3) The boy decided to stay in the city till he gets ajob
(4) The boy took loan to buy a bike
45. Which message best suits the story?
(1) One should never give up in despair.
(2) One should buy a bike to secure a job.
(3) Itis necessary to do marketing to become successful.
(4) Ifyou fail in interview, you should go back to your family.
46. Which among the following is NOT a right statement about Wangari Maathai?
(1) She was an Environmental activist
(2) She was the leader for Green Belt Movement
(3) She was a feminist
(4) She was a native of South America
We should complete this construction by next week.
(1) obligation (2) pasthappening
(3) present reference (4) inference
48. AsIwas going to take my first sip, [ heard father’s voice.
Which kind of Adverbial clause is the underlined part?
(1) condition (2) time
(3) reason (4) result
49. What qualities in Nick made him an International symbol of triumph?
(1) Nick’s bravery and perseverance
(2) Nick’s humour and wit
(3) His fear and hesitation
(4) Nick’s disability and rare disease
50. The poem ‘A plea for India’ urges for

(1) aviolent India

(2) astrong, united India
(3) inciting leaders

(4) selfish mothers
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PART - 11 : BIOLOGY

51. Find out whether the following sentences are True/False.
A) Pesticides containing Mercury, Arsenic, Lead can be degraded easily.
B) Industrial water wastes containing Arsenic are the main cause of Minamata disease.
(1) (A)istrue (2) (B)istrue
" (3) (A)and(B)aretrue (4) (A)and(B)are False
Bod srgen JBIS 55 Beyod.
A) >88%0, YIS, VDo EOA &) DYRE S 2o Bodderow.
B) o088 §r88 FOEE wo Sgoren DIDEr 7gd8 P sEwmo.
(1) (A) %<8 (2) (B) 858
(3) (A) So0csw (B) 588 (4) (A) Sodcsn (B) 85882 5.
52. What will be the phenotypic ratio of this given table.
& S8 ©B5700 BFgErd QG Jod?
X[ Y|
Y vy ry
Y 1y yy
)y 121 G e B (3) 13 )y 112
53. “When we cut trees to construct industries or roads for transportation it is important to
grow trees in another area”. This denotes which components of 4R’s?
(1) Reduce (2) Reuse (3) Recycle (4) Recover
“Soyroren, 8¢ domo 550 Bl FEIVIHE Bergimodonr HEESTL B
oo ©Bd80” - 4R ©&* J voTR) A8 JrdH0?
(1) &nowsdo (2) 8oA >ddo  (3) PSSao  (4) 8OA GG
54. Digestion starts in this part.
(1) Stomach (2) Small intestine (3) Oesophagus (4) Mouth
2Z8oD & rifos® Jndeohdod.
(1) #gdcso (2) 2% @ (3) o3 o8 (4) &
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55. Find out the correct sentence/s.
A) Chromosome is the segment of DNA.
B)  Traits are determined by the chemical nature of DNA and a slight change in it leads to

variations.
(1) (A) is correct (2) (B) is correct
(3) (A) and (B) are correct (4) (A)and (B) are wrong/incorrect

9B TEgR) TrEgosy oyob.

A - DNA &), 28 5rmrQ) F'3rs'a0 woird.

B- DNA &»§), 82008 dop0s® 3 Q) Sy $00T ©b $088 @nE), ofmros®
SrEnS 57 8ndHBod.

(1) (A)Sssa (2) (B) J358

(3) (A) So0os0 (B) S350 (4) (A) Sodcsn (B) 3382 s°9.
56. What is the length of second Brain?

(1) 6 meters (2) 7 meters (3) 8 meters (4) 9 meters

Oodd AE DY), FEY Jod? :

(1) 6 oK (2) 7 w08 (3) 8w (4) 9 obd
57. Studies on details of inheritance in Drosophila were carried out by

(1) Crick and Watson (2) Setton and Morgan

(3) Lavoisier and Cavendish (4) Darwin and Wallace

@RS’ S0FFEodgs KHdod wFgahto BIS T

(1) (85 %0005 TS ‘ (2) ¥S HockH IroS

(3) BFfonzb Hdcw °INEQ (4) @88 Hodcn BT
58. Which humans were lived about 15,000 to 10,000 million years ago?

(1) Homo Neanderthalensis (2) Homo sapiens

(3) Homo erectus (4). Homo habilis

D SrsPen 58 15,000 So0d 10,000 209058 HoSdore Jrdgo 0d JBDIYTE?

(1) 3> asrossds (2) 3> DO

(3) Far 680 (4) F3Ir 005

59. “Offspring receives its own pair of alleles for the trait, one each from both the parents” -
To which law does this sentence belong?
(1) Law ofindependent Assortment (2) Law ofsegregation
(3) LawofDominance (4) Law of genetic drift
“2d%0 oo dsemyest I° w8 850 S0P HyT H0888 woBondo 2hHSR” - &

TEgo @ JrE 8 58853082

(1) J[gsog =g Jrgsd oo (2) JEE b dovgo
(3) wirgsd; o (4) =g dFDHS dogo
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60. Seeds of this plant are used for the production of bio-fuel.

(1) Azadirachta indica (2) Atropabelladonna
(3) Jatropa curcas (4) Tridax procumbence
25 2068 &HB FEH & g, IgTodH GIRTrATDH
(1) =88 xobds (2) D> Bod's
(3) =S E§S (4) B=§) @EodN)

61. Expand ART
(1) AntiRiboviral Therapy (2) Anti Reaction Therapy
(3) AntiRetroviral Therapy (4) AntiRabies Therapy
ART &
(1) oSrods BS*IES oD (2) o5rod3 BASrES BE
(3) oS08 BES*IES B (4) oSrods 3OS BED

62. Find out the correct statement/s.
A) Inhalation and Exhalation are under the control of Medulla oblongata.
B) The mechanism of swallowing is co-ordinated by the swallowing centre in the brain

stem.
(1) (A) is correct (2) (B) is correct

(3) (A) and (B) are correct (4) (A) and (B) are incorrect

03 arEgo / Frsrgody 8oyod. ‘

A) ﬁw;)é, aw;)@véo Sozpdnpo AoHo@X08.

B) ood @HEc5 Hoododd ddodolo Bodd sTodod' Borg Soo wdos”t

& od00h. :
(1) (A) Ss88 (2) (B) sss6
(3) (A) So8cso (B) 888 (4) (A) 0805w (B) 9882 5°3.
63. Which of the following is/are the function/s of Adrenalin.
a) Growth of skeleton of pelvis b) Secretion of progesterone

c) Increasing the level of Sugarin Blood d) Dilation of the coronary artery
808 TBS® YAIOS 3’3’56‘&’5 RB0E, IB/Doen

a) S8Sewdho NG b) | FBROS ©Jodo
c) CgosS* S8 T Q) oo d) STHEcH $HJ Tgw) oo
(D) (@, () (2) (b), (c) (3) (0, (d ) (a).(d)
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64. Which of the following has pulvinus leaf base?
(1) LeafofTridax (2) LeafofOat
(3) Leaf of Mimosa (4) Leafof Sunflower
B0 T3S° doyo Ho8 JPado EIN HoKIH B?
(1) B@§ Sgo (2) && Jgo
(3) e Jgo (4) & 8&KHG dgo

65. Fill up the blanks (a), (b).
Our nervous system consists of around (a) nerve cells. Myelin sheath of
nerve cells is made up of Schwann cells and (b) material.
(1) (a)-10 million, (b)-protein (2) (a)-10 billion, (b)-fatty
(3) (a)-10 billion, (b)-protein ‘ (4) (a)-10 million, (b)-fatty

8od g®en (a), (b) oo Jrdood.

23 >b $g390° wSrdd _ (a)_ Téswren aaon. T o H0HOS §Erd
7S Serreo, (b)) 35gos’ Sosrdd Bohwd €0énos.

(1) (a)-10 2000, (b)F8S (2) (a)-10 BOHS, (b)-83
(3) (a)-10 DOcHS, (b)-¢S (4 (2)-10 280083, (b3
66. Match the following.
A B
1)  Nematoda a)  Metanephridia
i1) Mollusca b) Nephridia
iii) Reptiles c) Renette cells
iv) Annelida d) Kidneys
Bod &8 2838Uod.
A B
i) Q3resees a) DErIPacsr
i) Sooedy b) Ipécsr
1) J8Jyren C) B8 Eegewd
V) oJ8E d) Sorgdhozmen

(1) (i)-c, (ii)-a, (iii)-d, (iv)-b
) (i)-a, (ii)-b, (iii)-c, (iv)-d
(3) (i)-a, (ii)-c, (iii)-b, (iv)-d
(4)  (i)-c, (ii)-a, (iii)-b, (iv)-d

V-Biology 11-A
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67.

Find out the incorrect statement/s.

a) Presence of Resin ducts is the characteristic feature of Angiosperms.
b)  Gums are used in the preparation of food materials.

c) Tannins are the nitrogenous compounds.

d) Scopolamine is an insecticide.

9050 arEgo / arsrgod KH8owod.

a) BRI Tvod A Godwo viHE dro PEgEs.

b) 2o sHE ST ScrdSt $HBrNAL.

C) &rdfy S@eICNE ST T

d) 9PFoRS B BABIT0ES

(1 ®),0@,@ 2 @ @d @ @b, @ (@b)()d

68.

Fruit of which plant produces an alkaloid, used as pain killer?

(1) Papaver (2) Caffia (3) Azadirachta (4) Nicotiana
D oK S oo TVY ITOBT GIRFIIE vOperansSH 88 Bosd?
(1) >rSE (2) 8Hosr (3) eo=r&6Y (4) QEBASTS

69.

Assertion (A) : A person who takes carbohydrate diet produces more Urea in the Urine.

Reason (R):  This is due to deamination that occurs in the pancreas.

(1) (R) s the correct explanation for (A).

(2) (R)is not the correct explanation for (A).

(3) Both (A), (R) are incorrect.

(4) Only (R) is correct.

D08 (A):  DodSmges Sy Im SHsd Sg8 Sr@os® chrddr IS
88 ©H&od.

sdwo (R): EHooe* 200 AcHDIAS &I s~deo.

(1) (R) o558 (A) % $3S dSdeo.

(2) (R) ©538 (A) & FBS 56w 5°%.

(3) (A), (R) 3352 5.

(4) (R) Somgd $358.

70.

Length of Urethra in females and males is

& Dot Hhio Ang, 4P

(1) 2cm, 10 cm (2) 4cm,20cm
(3) 2cm,15cm (4) 4cm, 10cm

V-Biology 12-A
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71. Sequence of Urine formation in Nephron is
(1) Glomerular filtration — Tubular reabsorption — Tubular secretion
(2) Tubular reabsorption — Tubular secretion — Glomerular filtration
(3) Tubular secretion — Glomerular filtration — Tubular reabsorption
(4) Tubular reabsorption — Glomerular filtration — Tubular secretion

oo 63 S B0 SKIm

(1) togyrose — 88 DS _wo = TS RSo
(2) S — Y8300 - TS0 — ﬁadt)n"e:éo
(3) SI¥ESo — HfyTeso — Sderd)E D200
(4) S8eré)E Y&:e*de0 — hgyreso — FEErS0

72. Time taken for clotting of blood in an injury.

(1) 2-5 min. (2) 3-6 min.
(3) 10-15 min. (4) 15-20 min.
QBT Mmoo SADSY S0 KGELT A8 HF Ddoodo.
(1) 2-5 ddoaren (2) 3-6 dSoaren
(3) 10-15 dBoaren (4) 15-20 QS0aren
 73. Fill up the blanks (a), (b).
Aftertheageof  (a)__ yrs. the number of functioning nephrons usually Gecreases

by about 10% inevery ___ (b) yIS.

8od g~den (a), (b) oo Froosod.

(a)___ Ddonen IcHd or8S $HTE T ©oddS K K8 - (b)) dowwdd
10%, I@Se Bosried SKHs0d.

(1) (@)-30, (6)-20 (2) (a)-40, (b)-20 (3) (a)-30, (b)-15 (4) (a)-40, (b)-10

74. Find out the incorrect statement/s.
A)  When a person drinks more water, secretion of vasopressin will be more.
B)  Urine has 90% water.
C) Humans excrete 1.6-1.8 litre of Urine per a day.
0E°Q TrEgo/TErgosy Boyod.
A) JEYS A ENSYE TAEHS EYST GE8 ©H&od.
B) Sorgos® 90% A& Hotwobd.
C) Srdden Serdd 1.6-1.8 S Sorigd) 23JA.
(1) (A),(©) (2) (B),(©) (3) (A),(B) 4 (A),(B),(©)

V-Biology 13-A
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75. Fill up the blanks (a), (b), (c).
A fully grown maize plant transpires (a) litres per week. A big Mango tree
will transpire from (b) to more than (c) litres of water per day,
during spring season.
Bod grPen (a), (b), (c) oo JrdoKod.
DT DOAS 28 )T E) I8, ToR8 __ (a)_ dLYE I ar@yd)so oo
TE 580058 DoYP&08. w¥ DY SrWé By 008 srooS” St _ (b)__ Sood
(€)__ O&g I8 @ i¥o Tgor wchbi HoDEosd.
(1) (a)-14, (b)-650, (c)-2500 (2) (a)-15, (b)-750, (c)-3500
(3) (a)-3, (b)-150, (c)-1500 (4) (a)-10, (b)-150, (c)-1500
76. Match the following.
A B
i)  Stethoscope a) Went
ii) Kidney Transplantation b) Malphighi
iii) Auxins c) Renellennec
iv) Blood capillaries d) Hoff Nagel
8od T8 28J8W0b.
A | B
) NERRYD a) 308
il) SorEhod Sr0yd b) 50‘5‘323
i) e§cen c) TIBHE
iv) &§8% o98en d) S053S
(1) (i)-d, (ii)-c, (iii)-a, (iv)-b (2) (i)-d, (ii)-c, (iii)-b, (iv)-a
(3) (i)-c, (ii)-d, (iii)-a, (iv)-b (4) (i)-d, (i1)-b, (iii)-a, (iv)-c
77. Find out the incorrect statement/s.

a) Inplatyhelminthes, the digestive system is highly branched.

b) InAnnelids there is no transporting medium.

¢) In Nemathelminthes true coelome is present.

d) Intracellular transportation system is present in multicellular organisms.

30570 TrEgo/aTrErgosny 8o\od.

a) 280PF0 EIos® 2E5gSY THDTPLOT IJBoD Sonod.

b) ©IBET LIHoS® P8 SrPgoo Sod.

C) LOEFSS' Jz KT Gotnod.

d) odvie 2Hod’ Ewrodd PICm I3 wolnod.

(1) (@, (2) (b), (c) (3) (a)(b) 4 (0,
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78.

Lungs : Humans : : Stems :
(1) Guard cells (2) Trachea - (3) Stomata (4) Lenticels

008N @ SrdYen 1 FroTen !
(1) &EE Eeoex (2) >csuTew (3) JE Sogrew (4) BodNG)

79.

Which of the following organisms absorb Oxygen by diffusion, through the body wall?
a) Hydra b) Amoeba c) Cockroach d) Planaria

Bod o8S* D Bhen 08 Kdgo BT IS IEBS® B8l Hrdon?
a) T b) el c) "ok d) H360%e
(1) (a),(c), (d) (2) (a), (), (© (3) (a),(b) (4) (a),(b),(d)

80.

Fill up the blanks (a), (b).

In (a) __ respiration occurs in the Cytoplasm. In _ (b)  some part of
respiration occurs in Cytoplasm and remaining occursin __ (¢) .

(1) (a)-Bacteria, (b)-Eukaryotes, (c)-Mitochondria

(2) (a)-Bacteria, (b)-Prokaryotes, (c)-Vacuole

(3) (a)-Fungi, (b)-Blue green algae, (c)-Vacuole

(4) (a)-Eukaryotes, (b)-Bacteria, (¢)-Mitochondria

_ (a)_ & TRBo% e l8Sgoest 2dhibdeébod. (b)) &° dBaes’ Fod grio
Eea|5g0e5° o, doKe (c) S° 2hebod.

(1) (a)wrgfoosr, (b)-NaSods £Jen, (c)-E'sPodas

(2) (a)—wsgaoﬁm, (b)Bossrsy £Heo, (c)-08%

(3) (a)-50n, (b)-A® essoDH) ISeren, (c)-088

(4) (2)-dx=BosE Ehen, (b)-arg§dosr, (c)-Foir*sPo@osd

81.

Assertion (A) : Light phase is also called as biosynthetic phase.
Reason (R):  Synthesis of biomolecules occurs in this phase.
(1) (R)is the correct explanation for (A).

(2) (R)1is not the correct explanation for (A).

(3) (A) is incorrect.

(4) (A), (R) incorrect.

D80S (A) : 5708 S8 &5 H0I0e ¥ W Srw woird.
580 (R) : & &$4S° darenddeo D03he 28K&08.

(1) (R) 088 (A) % 50508 ddde.

2) (R) 038 (A) & $650S 580 5°>.

(3) (A)JBXDoSH 57k

(4) (A), (R) 30508 5°3.
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82. Which of the following is an uni-cellular organism? - ‘

a) Cuscuta b)  Amoeba c) Paramoecium d) Rhizopus
Bod TLS* O J8BeBD? |
a) Edr gl b) oz c) >8dacho  d) IR

(1) (a)only (2) (b)only

83. Find out the incorrect statement/s.
a)  During photosynthesis O, is evolved from CO,.
b)  During light reaction Assimilatory power will be formed. |
c¢) Darkreaction occurs during the nights. |
d) Chlorophyll ‘b’is green in colour.

3) 0),() (4) (a),(b)

(1) (c)only (2) (a),(b),(c)
(3) (@,(), @) (4) (b)only
JB5Q TrEgo/TEr g Be:ao& -

a) 8dealy SodrK BoDs® 83 02, SR G058 008 IenIt&od.
b) 5708 $8ges* oAl ¥ DS S8, '
C) o8 Wiy T@Irl 2SHihE0d.
d) &S D’ eHdy) Sorhes® Gotwod.
(D (o) Sgdo (2) (a), (b), (c)
(3) (@),(c), (@) (4) (b) S@o
84. Match the following.

1) Pancreas a) Peptidases

ii) Intestinal glands b) Bile

ii1) Salivary glands c) Lipase

iv) Liver d) Ptyalin

Bod T3 wEHEWOA.

i) &S0 a) DRABAD

il) o [Hogoen b) D&g8d0 i
iii) ereorzeo Koloen c) BoE

iv)  s8a%o d) LoHOS |
(1) ()-c, (i1)-d, (iii)-a, (iv)-b (2) (1)-a, (i1)-c, (iii)-d, (iv)-b

(3) ()-c, (i1)-a, (iii)-d, (iv)-b (4) (i)-c, (i1)-d, (iii)-b, (iv)-a
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85. Whatdoes the part *X’ denote
(1) Oesophagus
(2) Stomach
(3) Liver
(4) Villi
& YFos® ‘X’ eloerKo BA BOSHBEI0H.
(1) &5%8 o8
(2) &ogdoso
(3) s8o%o
(4) Sedsten
86. Fill up the blanks (a), (b).
Walls of small intestine secrete (a) : (b) get digested partially in the
- stomach. ;
(1) (a)-Succus entericus, (b)-Carbohydrates
(2) (a)-Amino acid, (b)-Fats
(3) (a)-Gastric juice, (b)-Proteins
(4) (a)-Biles, (b)-Fats
g9en (a), (b) o Jrootod.
%) (oo Adeo _ (a)_ & ©@dxow. _ (b)) S8S* Fod SKSmED

EgSoYaron. :
(1) (a)-sogsdo, (b)-sE)r@en (2) ()-oDSsdren, (b)-FPHgen
(3) (a)-288 Gdo, (b)4>SSoen (4) - (a)-28g 8d0, (b)-FHgen

87. Find out the correct statement/s.
a)  Gastric Ulcers are caused by Bacteria.
b) Kwashiorkor is a protein, calorie deficiency disease.
¢) Villi in the stomach increase the area of absorption of food materials.

d) Digestion of carbohydrates, proteins, fats occurs in the food pipe.
- (1) (b) only (2) (d) only (3) (c) only (4) (c) and (d)
Bod o8S® $BS gy arsrgodn HoSosd. -
a) dxich v oghocsr Sod Seorhd.
b) SYRErE)E ©ds FES, 36 S0 S0l e,
c) dgEchod’ Wrdse wfd Fhe FTY) Dowherow.
d) ©5E TS eE TG, @8R, EHe 5800 FgHE0s. ,
(1) () $mgd (2) (d) 3= (3) (o) Srgd (4) (c) Sodosn (d)
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88. How many autosomes, allosomes are present in human beings?

SrdHos® Ko T8, Bohl FIrS e AQ)?

(1) 21 +2 pairs (2) 22 +1 pairs (3) 19 + 4 pairs (4) 3+ 20 pairs
89. Sex of a foetus depends on

(1) Amount of regulatory hormone from pituitary

(2) Amount of sex hormone

(3) Typeofovum

(4) Type of sperm

bodo BwE), dor Jg:de &0 eFdit&0b.

(1) Sengiod Hood POV TSP

(2) Bodg 6" oo

(3) wodo BxE) 8o

(4) HEE0 BwE) S80D

90. Pituitary gland is located below the >
- (1) Vasdeferentia (2) Thalamus
(3) Medulla oblongata (4) Hypothalamus
Heogd (Hod B Bod wotnod
(1) HETogen (2) R
(3) Soegdoopo (4) TR

91. Identify whether True or False.
a)  During puberty testis secretes testosterone.
b) Embryo sac is a 7 celled 10 nucleated structure.
(1) (a)istrue (2) (b)is true
(3) (a),(b) are true (4) (a), (b) are false
Az 58 B)od.
a) oS0 St Sndpen YRR &8 BIow.
b) 2odFdo wHss 7 Swren, 10 Sosen §OA &¥) dovyeo.

(1). (a) 5356 (2) (b) o386
(3) (a), (b) 525 (4) (), (b) 528D 59
92. Which of the following can spread AIDS? :
a) Mosquito bite b) Transfusion of infected blood
¢) Intercourse with infected person d) Eating food with an infected person
Bod a8S* AIDS 7gR8 5°8000rdb.
a) &'Dosrdn b) &dsEE 88 Sr8)d
c) &' S5g88° Bons €8y d) &Hsgs $g88° O hRoob
(1) (a),(b) (2) (b), () (3) (b),(d) (4) (c),(d)
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93. Which of the following will occur during the prophase of Mitosis.
(1) Centromere divides forming two chromatids.
(2) Chromatids are pulled towards the poles.
(3) Chromatids turn as chromosomes.
(4) Division of cytoplasm.
Bod TBS* Ho PR RoE), WESH $IS* 2HHSE 2B?
(1) oEs*a$HE DO Bodky E'Sre3dy Ey@o®.
(2) Er8& SyTreo YK orfaEon.
(3) EFIr8d FIrsoeor Srddetow.
(4) Bealdy Dehasd 2bE0B.

94. Find out the correct statement/s.
a)  Amoeba reproduces by budding.
b)  Organisms can reproduce either sexually or asexually.
4 c) Jasmin is the example for Runner.

T
(1) (a)only (2) (b)only (3). (a),(b) 4 ®),()

J0S T57g)y / arsrges KoBodod.

= %2 ) =

a) s’ B §Eigso oo adihéod.

b) £Jheo Bohs Bo ¥BohE HFe Lo SGEG BYLooLrow.

c) B 80%H emdrdem

(1) (a) Sm@o 2) ®)S=Ed  (3) (a),(b) 4) (b), (0

! 95. Most of the fresh water on earth surface is found in
(1) Underground (2) Oceans
(3) Glaciers (4) Rivers
P D &) S0 Y S BAS* Gotnod.
(1) e;SJ'*ridaoeS‘ (2) HF Jddomes
(3) Ahohbos* (4) SSees®

96. To which group of plants does this belong?
(1) Sucker
(2) Runner
(3) Fem
(4) Stolon
& g J o8 Bok&od.
(1) %56
(2) 856
(3) 9§
4) Fos
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o

Which of the following is/are correct regarding chloroplast?
a)  Chloroplasts are present only in animals.

b) Chloroplasts store fat.

b) Chloroplasts are the type of plastids.

d) Chloroplasts produce energy rich ATP molecules.

08 B0 Jo20H00 SVIH/D?

a) IBEtenPen mohHod® Sr@dd Goirown.

b) ToSlewHen S JogidiFow.

c) SBstenHen of SEDS FRA.

d) HosdenHen 30808 ATPoS w8 Banon.

() (@),0),c) (2) b)) (3) (0, @) 4 (),

98.

Deficiency of the following cause anaemia?

(1) Thiamine, Pyridoxine ~ (2) Folic acid, Pantothenic acid
(3) Pyridoxine, Folic acid (4) Biotin, Pyridoxine

388 %0 J08 ©IWEr ;g6 Eenrhsod? |

(1) &csrds, DOTES - (2) >Os°Ro, Fots'FIsHo
(3) d@ES, FosHo (4) 2Rr8S, RO

99.

Assertion (A) : The diameter of efferent arteriole is less than that of afferent arteriole.
Reason (R):  Efferent arteriole does not participate in excretion.

(1) (R) is the correct explanation for (A).

(2) (R)is not the correct explanation for (A).

(3) (A)iswrong. -

(4) (R) is correct. :

@E0S (A) : DFTTEHIE K08 LITrENIE Trgdo JG,T Gotwod.

58000 (R) : 03T $S08 IIYS o3 BEoHS* JeTI.

(1) (A) & (R) 20808 dddea.

(2) (A) 8 (R) 28508 DS 2. |
(3) (A) %0058 . %
4) (R)Z88. |

100.

Which membranous structure of Embryo in placental mammals has no specific function?
(1) Allantois (2) Amnion (3) YolkSac (4) Chorion
20408°0 Q T8 2orcsn STes’ HEgERS G BL? i
(1) ©@®odo 2) ey (3) 3 %od (4) Hocsnd
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101.

PART - 111 : PHYSICAL SCIENCES

A block of ice at—10°C is heated and converted to steam at 100°C. Which of the following
curve (graph) represents the phenomenon?
~10°C $&%08) 2.8 oot Sn¥, 38B5e; 100°C 3§ OE o5rom Srpdod. & DXaSr)

1808 JrdoB By Jire (THS* B JrDNH?

102

. " e
! i
(1) rc ()
Heat Supplied — Heat Supplied >
©o8odd o ©080DS &Fo =
f f
(3) v¢ (4) rc
Heat Supplied —» Heat Supplied —»
®oBodd Gyo - 208003 HJo
How much of heat energy will be consumed to convert an ice block of 5 gm at —=5°C into
water vapour at 100°C?
(1) 612.5 cal (2) 3612.5 cal
(3) 6125.4 cal (4) 621.5 cal

=5°C $¢ $o8) 5 gmeo SooH Sn§ S 100°C S¢ A8 oSBT SrE)Erd8 Jod eRs
DARTAoWBE0B.

(1) 612.5 8e5*6en (2) 3612.53s5%0ew

(3) 61254 35%°0ex (4) 621.585°6en

103.

Which of the following will allow fast evaporation, (Liquid and thermal conditions are
same for all the four)
Bod TAS® A Hod o raESSo 2&iS08. (a“?oéSeS‘éo 2BEES @Sa’)o

500050 @Hoses o)

(1) [ (2) E=
::""5 "'-:
=
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104. SI unit of specific heat is

JIPLRoSKH SI DSrearen

(1) JkgK (2) JkgK (3) kglJK (4) K/-kg
105. Statement 1:  Condensation is a cooling process.

Statement 2:  Evaporation is a cooling process.

(1) Statement 1 only true, 2 is false (2) Statement 2 only true, 1 is false
(3) Statements 1, 2 both are true (4) Statements 1, 2 both are false
FEg0 I: FoB88mo 28 8OESw (HEo%.

FEgo 2 TrESS0 wE 88086 HEa.

(1) aggo | dég0, 2 @850 (2) &8go 2 g0, 1 e@ddg0

(3) orggSwen 1, 2 Bodo J&g0 (4) o8gSnen 1,2 Bodr ed&g0

106. An electric bulb and a screen are placed on table in a line at a distance of 100 cm. To get a
clear image of bulb where we need to place the convex lens in between screen and object ¢
(Focal length of lens is 16 cm)
(1) 60 cm (or) 40 cm (2) 30cm (or) 70 cm
(3) 80 cm(or)20cm (4) We can’t determine
B J0ihéd) wl DBogs wend 8ok 888 wETIEES 100 2o..0 Erdods®
om0, B HEF D FH0S* Hogrsd LLF Q) SodB wey) BnE), ARDS H8DoW )

88 g dosKeo (Ke¥ FFgodo 16 Ro.0.)

(1) 60 0. (So) 40 2o.2o (2) 30%0. (Bz) 70 Do.

(3) 80 0.2 (Sz) 20 o.2o (4) &A1 Sodo FHosBo
107. | Material Medium A B : D

Refractive Index 163} 133 1.3 1.5

From the above table in which material medium the light travels faster than the remaining
three

Sorg oSrEo T e R SR ,
582958 Koo 1.63 |.1.33 | 1.0003 | 1.5

P DG 3008 Q ITPSrIgos' 5708 NS Hardodd ET7) o HoSrdyos.

1) A @) B G) C 4) D >

108. Speed of light in vacuum is

(1) 3 x10% km/hr (2) 3 x 108 m/sec

(3) 3 x10°® m/sec (4) 3 %108 km/hr

#rigoes® 5708 JKo ;

(1) 3 x 10%&.5/4o. 2) 3 x 1085/

(3) 3x10%dr (4) 3 x10°88.20/50.
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109. Which of the following is not an application of Total Internal reflection?

(1) Mirages (2) Optical fiber
(3) Thermite process - (4) Brilliance of diamond
Bod TAS* A8 JoFToss HorSETRE @SHSdSo TK?
(1) dodSrHen (2) e85 b
(3) TS g8 (4) Sero PBs*do
110. Snell’s law
VS Ao
(1) fn]—_= ?2 (2) msini=n,sinr
, sini sinr
n _ sini ; e
: (3) ;2' G0 (4) msinr=n,sini

111. A bird is flying down vertically towards the surface of water in a pond with constant speed.
There is a fish inside the water. If that fish is exactly vertically below the bird, the bird will
appear to the fish :

(1) Farther away than it’s actual distance, lesser than it’s actual speed.
(2) Nearer than it’s actual distance, lesser than it’s actual speed.

(3) Farther away than it’s actual distance, greater than it’s actual speed.
(4) Nearer than it’s actual distance, greater than it’s actual speed.

B85 H0S" ¢85 HE BEXYSD IS GHBFv0 BIT oo RE SES° FodE ETrios.
H88 woomr ABS® o€ BD G508, 8 VI J§ ity EA)d0b.

(1) &0 eden o go8 drdomrdd, TS Ko E8) S8 S Ios S Edrendod.
(2) @R oden Flo 0B GfsmS, TS o L) 87D Jhos* Eoendod.

(3) TR wdeo Fdo EoB drdorsd, TYS o L) 8PS Jros® Edhendiod.

(4) & wden Fdo EoB &S, 795 3o BT S JKos” Eddendrod.

112. Ifan object is placed at 2F, before a convex lens then which of the following is true?
(1) It forms virtual, equal size, erected image
(2) It forms real, enlarged, erected image
(3) It forms real, equal size, inverted image
(4) It forms virtual, enlarged, inverted image
w8 Boogrsd L5 Q8 Swodh 2F, S8 a8 S Godd 80d TS* 06 Dég0?
(1) ©8& Fg, SIS HOSr0, VS PBDowo IS
(2) ©8& Jz, DEBS, VK HEN0WO YK
(3) @8 Ju, dSrEPS BBIrwo, SoBodien PEDoo Iy
(4) ©8 g, DEBS, SoBotoen @ENoWO AKBD
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113. Statement 1 : _ Any ray passing along the principal axis is always deviated.
Statement 2 :  Any ray passing through the optic centre is also deviated.

(1) Statements 1, 2 both are true (2) Statements 1, 2 both are false
(3) Statement 1 is true but 2 is false (4) Statement 2 is true but 1 is false
>80 1: Brargo Jowd Hoirs8od @ 5708 88T dbeoso Bok&od.
JEgo 2 §&8 )5 Solo Mo [Hosre3od 5708 8880 Srar w0 Bok&08.
(1) o850 1, 2 Bodr S&gb (2) &850 1, 2 Boddr eddgd
(3) or8go 1 d&g0, 2 wddg0 (4) &r8go 2 850, 1 wdsg0
114. The range of focal length of eye lens of healthy human being is
(1) 227cm-25cm (2) 227cm-2.5cm
(3) 227cm-25cm (4) 25cm-22.7cm ‘
B8 igHoBY SrSHA Sodl ELE Trefgods gy
(1) 2.27 2o.2. - 25 Do.. (2) 2.27 Do.. - 2.5 o.v. .
(3) 22.7 wo.2n. - 25 o.M (4) 2.5%0.0. - 22.7 Do.5%.
115. Select and match correct combination.
A) Myopia K) Short sightedness, concave lens used for correction

B) Hypermetropia L) Short sightedness, convex lens used for correction
M) Farsightedness, concave lens used for correction
N) Farsightedness, convex lens used for correction
DBADHN TAQ 0D, BSDBHTLHN.
A) (¢8R K) &§s o8 srdioddo, dardendy JLrsd §LE) T E0
B) ég, AR L) &88 o8 srdfondo, Iadsd ogrsmd §L5R) ardio
M) &rdo 8 Srdterdo, ATt HLrses §&57Q) ardddro
N) &rdo o8 dSrdiendo, o’ Sooers Y 5&35‘821 FEo
(1) A-K,B-M (2) A-K,B-N (3) A-M,B-L (4) A-M,B-K
116. Refractive index of medium A = 1.3, refractive index of medium B = 1.5. If light travels
from A to B which of the following will not change?
(1) Frequency (2) Wavelength
(3) Speed (4) Both frequency and wavelerigth
SrS80 A GBao¥) SEFSS Medo = 1.3, airdso B gy SEFSS feso = 1.5 5708.
A %000 B S°8 HoSr33008 808 TAS* 98 SrE?
(1) &S:DSgo (2) &doridggo
(3) $& (4) FS&YSgo HHdosw d&ok 3g g0 Bodr
117. At which angle of scattering the intensity of scattered light is maximum
2 H08He0 S0 SE H0FI 508 HPE vz Gotnod.
AR A i e (3) 90° (4) 60°

IS
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118 . The colour of the inner most cone of rainbow when it forms cone shape from the tip at an
eye is
(1) Red (2) Violet (3) White (4) Black
S0t 5§ FopuIm JEYBS ROBEIDY) BwE), wods Fopoh g Sord
(1) %D (2) <sTdoihd (3) @end (4) S0

119. Find the value of ‘i’ in the circuit given
(1) 30amp
(2) 3amp
(3) 0.lamp

(4) 0.3amp o 300 30Q
= IAN Sec0e5* ‘i’ Dend EFS0s.

(1) 30 eobaHd
(2) 3 woDANE
3) 0.1 woboH&
(4) 0.3 80b0H&

W o~

30Q2

120. Amount of current that passes through a body more than 1 second that may cause even
death is

(1) 0.00001 amp (2) 0.0005 amp

(3) 0.001 amp (4) 0.07 amp

5783 #6680 00D 1 WK &) AEYS DY Jdo ogs PITR Hdwo Srae
S0z DowSEY 0.

(1) 0.00001 eso®osody (2) 0.0005 50508

(3) 0.001 oS8 (4) 0.07 e50Da%&

121. Keeping the length constant and cross sectional area of a conducting wire is doubled then
it’s resistance ‘

(1) doubled (2) halved
(3) nochange (4) become zero
FEHS Yoo &od wf TIE 8 Bof), SodgiHE Togo LKoY B2 T Ao

(1) BBodrS (2) dESKS
(3) 38 (4) 550558
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122. The magnetic lines in the figure indicates

(1) Ifthere is no flow of current then only magnetic lines form around the conducting
wire.

(2) Ifthe current flows vertically upwards (out of page) through a conductor then magnetic
field lines are in clockwise.

(3) If the current flows vertically downwards (into page) through a conductor then
magnetic field lines are in clockwise direction.

(4) If the current flows vertically downwards (into page) through a conductor then
magnetic field lines partially clockwise and anti clockwise also.

$58065° ©oHAYod Tpen 8OO

(1) d&gs Bariro BdYowd wiyd SrE 8K Kby ©oHIm o8 Ipeo GEe ow.

(2) 2E3¢ ogS ILIWHM™ 8 (VD wohbB) Tdo KHoa Iy @owdod
B¥o Bpen J3gB¥S” odron

(3) w¥3¢ D58 Bois BIM (Hi3E S*B08) TiEo Mo Bosrdl wond,od
8w Spen dEgHIS* Gotrow.

(4) o83¢ DBgS Bo& BFT (HBE S*HO8) adrfo Kom |Hasred R ®oJY 08
B2 Open Fggomr 55, F¥omr wddS; BIS* Golrow.

123. Let ‘0’ be the angle between direction of current and magnetic field and it is 90° then force
acting on the current carrying wire is given by

Dgd DT HF, vonod TS BFH K¢ Ewo ‘07 Kol T deos 90°
©oN8, VI TE S HATD wewo =
(1) 1=FLB Q) Zero (3) F=ILB (4) B=IFL
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124. “The induced current set up in the coil is in such a direction that it oppose the changes in
the flux” is stated by

(1) Faraday (2) Lenz (3) Oersted (4) Ohm

“BRHLS® WD ey Sg80808 B’ (W OGS Wardro Gotnod” Bl
8OFr0.

(1) 23 2) Bo& (3) woH6RE  (4) &5

125. Which of the following statement is correct

(1) Sliprings are used in AC generator to convert electrical energy into mechanical energy.

(2) Commutators are used in AC generator to convert electrical energy into mechanical
energy. ‘

(3) Sliprings are used in DC generator to convert mechanical energy into electrical energy.

(4) Commutators are used in DC generator to convert mechanical energy into electrical
energy.

Bod g TAS* KOS TEgo

(1) AC 25308 deogs)s doo@s 48m Srgbos® YBoofien TEe.

(2) AC 28306 deogi§ AcHoBE ¥ Srgitos® SErgBOG TEe .

(3) DC z&8e8 osro|®8 %83 Ddog:ﬁtﬁn’ ércgé.:oeﬁ" VDBofien dderd.

(4) DC 23866 osro@8 80 ddgifiim Srdyos’ sSngBld)d Tderd.

126. Which of the following gases dissolve in water make the solution acidic.
808 TES* ) TSI ABS® EOASYR WK T E0 IS\t
A) €O, B) CaO C) S0, D) NaO
(1) A)&(B) (2) (A)&(©) (B) B)&(©) (4)  (©) & (D)
127. Reaction between Zinc metal and Conc. Sodium hydroxide produces a gas. Which of the
following property shown by the produced gas
(1) Rotten egg smell (2) Turns lime water milky
(3) Supports combustion (4) Burns with POP sound
205 &'ro bk Mm@ FBoho TEHE Sy Uy wl T eE8 BQos.
Bod TES’ I F8o0 &8 Vohad ToSNY T HEBoBEE08.

(1) 593 Fahdy 3. (2) HJD 8L FolSB SrdHd.

(3) SR8 Hogdd 2d0d. (4) &S DI #od* Hokeod.
128. Nature of Antacid tablet is

(1) Neutral (2) Mild acidic (3) Strongacidic (4) Mildbasic

eodTrd& K8 (é.r@éﬁ) R0E), ésa:*;ﬁo

(1) $&go (2) dgoy sl dgardo

(3) 20 el Jgerso (4) dgoy 56 dgerdo
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129. Ca(OH), + CO, — CaCO, + H,0.
Which of the following statements are true for the above reaction.
A) A metallic oxide reacts with a non-metallic oxide to produce salt and water.
B) Itis a neutralization reaction.
C) Ametallic hydroxide reacts with a non-metallic oxide to produce salt and water.
D) Anon-metallic hydroxide reacts with a metallic oxide to produce salt and water.

(1) (A)only (2) B)&(©) (3) (A),B)&D) (4) (©O&(D)
Ca(OH), + CO, — CaCO, + H,0.

D S8g8 dowodod Bod TERSt D HOFID.
A) of S @), of VST ¢BES WEZT0s vSwo HHBL VWA BEE Bhos.
B) =26 c¥ ébgéda 8.
C) of &% TEHS, ot 0% sBES SE;Tod 0S50 B AN G$8 Bhod.
D) 28 055 @RB, vl S5 ¢BES SE3T08 olwo 8ok D &8 Tdod.
(1) A)sgd (2) B)&(©) (3) (A),B)&((D) 4) (O & (D)

130. Find the wavelength of a photon in centimeter whose energy is 3 x 1078 erg. (h=6.626 x
10?7 erg. sec, C = 3 x 10'° cm/sec.).
3x107% 2% ¥8 Ko a8 PerS Bwg), S8oKBY g0 Doddowbos* §8FSod. (h =
6.626 x 1077 2§ 2080, C =3 x 10'° 0.2/ 2ES)
(1) 0.6626 (2) 6.626 (3) 66.26 (4) 662.6

131. Which of the following diagram violates both Pauli’s exclusion principle and Hund’s rule?
8ol ad)d Sirod® 28 Fd S¢S oo BN Fos JafSred Dododsd

ago?.)oof)oé.

(O ) B 7 O @ T [TYT

3 T [Tyt ? @ Ny |1t ’
132. Which of the following four quantum numbers represents differentiating electron of sodium

atom? ’

Bod TES* Fhafo HESrenh BE) BEE)E JVFRS (@I HEW T 500

Sopgen 2D?

(1) n=3,l=0,m,=0,ms=+% (2) n=3,1=2,m,=+1,ms=—-;—

(3) n=21= 1,m,:0,m_v=+é- (4) n=3I=lm=+1m, =+% *I
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133. Which of the following statement is not true?
(1) Lightis an electromagnetic wave.
(2) Electromagnetic wave is a mechanical wave.
(3) Electromagnetic waves are transverse in nature.
(4) The speed of electromagnetic wave is 3 x 10! cm/sec.

8od FrErgest $8G0SD 58 A8?

(1) 5°08 a8 dhoglasod Sboio.

(2) dogcam,o8 $boo 2.8 aSro@8 ddolo.

(3) dogBasodm o8 Sdomren 885E Sofo wET ) EOA Gotrow.
(4) 3B 08 8ok o 3 x 1019%00.d0/ 28R

134. ‘n’and ‘I’ values of four electrons given below.
Identify the correct arrangement of increasing order of their energy levels according to
Aufbau principle.
T JoERe ‘A’ Hdain P Denden fol BcaEmon. ¥ T Johdo wbor I
BE), ¥§ Fowe OGN DG Ed 0508k HYoNes.
A n=4,i=1 B) n=3,1=2 C) n=4,1=0 D) n=5,i=0
- (1] BECEA<D 2) C<B<A<D
(3) D<C<A<B (4) A<B<C<D
135. Regarding modern periodic table which of the following statements are incorrect.
A) The valency of 18 group elements is ‘0’.
B) Elements in same period having same number of valence electrons.
C) Except hydrogen all the S-block elements are metals.
D) As godown in a group the metallic nature of elements decreases.

S WIS HEELH Howodod §od TEGeS' HOGXD 57D JI?

A) 183 Br) Soreste dodrxusds ‘0

B) 238 2800&6¢° fo Srosten af Jod) JoFgeod 04 wodrown.

O T&=S 85y MAdS S-erso Srosteq) S'Fte

D) @ryos’ §ods Fh Fob Sroste S5 drardo $Kd08.

(1) (©)&(D) (2) (B)&(C) (3) (B)&(D) (4) (B),(C)& (D)
136. Which of the following pair of [ons have different number of electrons.

Bod F8S°* TdH Hopgd® JoFSoH OAS volrSe ad J8?

(1) Na*,Mg* (2) CI,Ca* (3) F,Na* 4y H*.Li*
137. Which of the following chalcogen family element belongs to 4" period.

(1) Tellurium (2) Selenium (3) Sulphur (4) Oxygen

808 BS* 45 HOoHEKH BodS FTEYAS odnow Srvso I6?

(1) Bexrdodo (2) 0OJcco (3) 26»2.)35' (4) w8=s
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138. Predict the atomic number of the element belongs to 3 period and 14™ group.
35 200HE Ho800 145 KErdH Bodd Sured JHESrm0 Jopgd GiEroKod.
(1) . 6 (2) 16 (3) 14 fay 13
139. Which of the following molecules do not contain a triple bond.
8o wendes® @Ewodo B AD?
A) CH, B) NH, C) N, Dy HCl
(1) (B)& (D) (2) (B),(C)&([D) (3) (A)&(D) (4) (A),(B)& (D)
140. Molecular formula of a metallic carbonate is X,(CO,),. Then the molecular formula of its
phosphate will be
wf S'F OIS BwE), v X,(CO,);®o00d & afi:géf S0g), v FET

(1) X;PO, (2) X(PO,), (3} XPO, (4) X,PO,
141. In which of the following central atom does not follow the octet rule.

808 IS BIS* FoB8 HE5re0Y OHE IGHITY) IS,
(1) BF, 2) CH, 3) CH, (4) NH,

|

142. Number of Lone pairs, bond pairs present in ammonia molecule }

©37)A5 WeNHS* Ko 2000 zodiew, VoPE zobeo dopg 1

£ 5l (2) 1.3 (3) 2.2 4 1,2 =
143. Arrange the following metals in the increasing order of their reactivity.

Calcium, zinc, Mercury, Copper, Sodium

(1) Mercury < Copper < Zinc < Calcium < Sodium

(2) Sodium < Zinc < Calcium < Copper < Mercury .

(3) Copper < Zinc < Calcium < Mercury < Sodium

(4) Sodium < Calcium < Zinc < Copper < Mercury

808 ST T8 sorgied WOA Eos" whod.

5*90%0, B8, FEEJ0, 5716, V%o

(1) >E830 <516 <=2of <sdoho < F&ako

(2) FBoHo <20 <Frdodo < 516 < FEEDo ; |

(3) 56 <=2of <zdoPo < &S0 < F&ofo : 1

(4) &S0 <5°dcho <2of <FHE < FELBo

144. Which of the following method is not used for purification of crude metal.

(1) Poling (2) Froth floatation |
(3) Liquation (4) Electrolytic refining

808 TES* S*THHE SHBrAoB HES J8?

(1) 2®of (2) I8 BB

(3) HKeodo Bo%hdo (4) dogs TGS
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145. Which of the following is a carbonate ore

(1) Pyrolusite Magnetite (3) Lime stone (4) Rock salt
808 TAS® OIS TP 267
(1) 2Corgds (2) SrHBS (3) DHpoow  (4) oES
146. The reducing agent in thermite process is
(1) Carbon (2) Aluminium
(3) Carbonmonoxide (4) Magnesium
§3)S BIEDS* Ea0Esm 680
(1) s (2) vorgdodohe (3) SEHIIrITZHE (4) Dfncho
147. Which among the following is/are unsaturated hydrocarbons.
808 TRS* vdody) TIEF TGS AD?
a) CH; b) CH,, d CH, e} CH,
(1) (0),(&(@) (2) (a&(b) (3) (b)&(d) (4) (d) & (e)
148. The formula of methanoic acid is :
ESonE wlo B, >
(1) HCOOH (2) CH,COOH (3) CH,CH,COOH (4) C,H;OH
149. Which one of the following can show isomerism?
Bod TAS* e @50l HEGOWI IB?
(1) HO (2) BeCl, (3) NH, 4) CH,,
150. Choose the correct matching.
Chemical reaction Name
a) CH,COOH +NaOH——CH,COONa+H,0 i) Esterification
b) CH,=CH,+H,0————>CH;CH,0H ii) Addition reaction
¢) CH,+Cl,—————CH,Cl+HCI iii) Neutralization reaction
d) CH,COOH + CH,CH,0H —=0e2504 iv) Substitution reaction
CH,COOCH,CH, +H,0
J030S 2EHHWLI ISNE 0.
SRS $8g &
a) CH,COOH +NaOH——>CH;COONa+H,0 1) 2$893&S
b) CH,=CH,+H,0—9% ,CH,CH,0H ii) Sofos 38
¢)  CH,+Cl,— 4" CH,Cl+HCI ili) SwRsse S8
d CH,COOH +CH,CH,0H —T8H030: iv) ©8§se By
CH,COOCH,CH,; +H,0
(1) a-iii, b-ii, c-1, d-iv (2) a-iii, b-i, c-ii, d-iv
(3) a-iii, b-ii, c-iv, d-i (4) a-i, b-ii, c-iv, d-iii
0o0o0ooa
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